2.5 Practice Solutions

Directions: Write the equation of each line.

1) slope = E , y-intfercept = 4
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4) through: (2, 1), slope = _3

N-\l= "}LCA-L\\
\{’I - "S/LX +3
¥ H
2
\{1 "3 T

5) through: (-3, -2), slope = 3
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6) through: (-5, 5), slope = _S
7—§ — _’%‘ (x ¥ $)

=L
EE ek

e

LY i

g:% X *37

7) through: (-2, 4) and (2, -1)
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8) through: (0, -5) and (2, 4)
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9) through: (4, -5) and (2, -4)
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10) through: (-1, 1) and (-3, b)
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11) through: (1, -3), perp. To x = 0, The®

XZQ]SC\.\Id'\‘.(rA\\'\n(_—*F“
So We need G o zoadal

Lo e Y27

Cl D

13) through: (2, 0), parallel to y =:—x -3
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